NP R T

107 5 4 /45

TAF B BOR B AR K

3 N 7
%('%’—i & %‘ﬂ‘ ﬁﬁl‘ 7})’T X AH 10842 A 21~22 A
1 2 3 4 5 8 11 12 13
5 2 24 35 245 145 - 2 3 7 9 5
gggﬁ | 7. (1) HHBAMRE -1<r <1
« 53 ) %%%BE’U%&T%K?@?EY:%XHO LR RFESERIEHR

1. \/(logT—‘logS 1‘—‘—log2‘—log2

2. HERIERHE f(x)= (5" —9x+14) Q,(x) +x+1 = f(2)=3
f)=(x-2)0,(x)+k = f(2)=k > Aillk=3

3. <FiE—>
I 1__

41
1 A—=618"
2121

!
22 _ _ _wﬁ%:uf’

HH6+12=18
<JET>
51 4

2121 2!

NE23

() MMEER > KRS0 Y a WEESVZ » T
@ 5(0,43)8(0,-3)

@ a+b=(1,3)FHA,-B)  Hl|a+D |=2
W=D =(-1,3) B (-1,-) | T - |=2

(3) a+D HD WAL 60°

(4) FREFTISIERE =133 =3

(5) (3,3)=p(0,43)+q(1,0)=(¢,\3p)=¢=3,p=+3 K
(3.3)=p(0.~3)+¢(1.0)=(q.-\3p)=¢=3,p=—3 >
Bp=H3Eip=-V3

yO 0+2

5.08(2,0) 0 (1,-2)WE ﬁféﬁ S o4
TEMERRZG N /T = y<2x - 4 .a=2 > b=—4
#(-1,0) > (1,-2) WEHRE y+(1) ?;“_21 =y=-x-1
ERERZAG LT = y>—x-1 J.e=—11d=-1
(1) a+b=-2<0
(2) c+d=-2<0
() a=2>-4=b
(4) c=-1=d
5) a+b=-2=c+d

6. (1) y=xBETZIEAE y =27 B 7

i y=—x -

() y=2"WEIFE y =log, x FIE
JEERES x—y =0
(3) y=log, x HlEI L EL
y =log, (—x) WEILETREAS y il
4) y=log,x WETFH L-T%
log, 5 #LAL » A{S
y =log, x +log, 5 =log, (5x) W&

=1lo
) x+b&x=0:>b&x=—x:3{y S oA

H— (828, (1AH —(EE B ) -

= |11

Al =1
6>Xeﬂ%x’m%%@$@
(4) BE(L 2 % > BT

) rom=r-(rZ)=r2 >0
o, oy
“ EIRE
kREEE - fo)=x+k’ +x -2 BERBE— RN x-c »
Hlc=+1> +2

f()=1+k+1-2=0 * k=0 (£E)
f(-D)=-1+k-1-2=0 * k=4 (£E)
F(2)=8+4k+2-2=0* k=-2
f(=2)=-8+4k-2-2=0 > k=3 (IH)
Fillk=-2

SR RS > R R ﬁ%&+ﬁ54§% %
IS BRI - e S L Lo L
5 3 2 10
1
ik 10 =2
2. 177
15 10

VCERP(2t-1,¢) 0

I PB=2PA = (2 +8)2 +(1-13)2 =2y(21~1)2 + (1 ~1)?
=512 +61+233=4(5t2—6t+2)

=2 -2-15=0

= (1=5)(1+3)=0

=t=58t=-3 (I'H)

= P(9,5)

SBEVEND - IBEEE

{3 1 4} {0 1 —5} {1 }
—>~ () - -
1 03 1 0 3 01 -5

0 3

S(x,v)=(3,-5)@ %)

{314} {3 1 4} {31 4}
2) — -
1 03 -5 0 -15 4 3 -3

ﬁﬁﬁtﬁf“” Y6

+3y=-3
C+C; 2 =

) p= C“ g 5(4 J7)

@)HXﬂh@gﬂg:%mﬁ)
ﬂ(4 77)

4 o=\mp(l-p)= 4>< ><f

3) E(X):np:4><%:

J—(4







